SH7EEABER-RE(SM7E6 A12B3R%E)

XIKERFE IS EBRL
AHLE 2 mem ‘ TH-£54 ST ISR ‘ wa ‘ EALE

SH7E5H218 14 IR HING-6 5 FEEBIEIE (ZD1) BT H S 159,331,700 = 13RI FM
Sf74E6H 40 34 i":'i"ffigg' %g’“é BRERERGHEREZET 4 21 mmpy 5,192,000 # /B T 26
SH7E6 A48 32| EHTETEIER KLl A EEBRFERIETSE T EETXRE#AN 7,315,000 = 2 & KRH)
$H746A48 0 ELHER  EMERIILSHEREEE EEETEILRA | 43,780,000 ﬁ“g;;;g”"
SHTE6R4E 9 ELWER  NAMTU-ER AR R g gg0 000 AT S
4 F1746 548 28 E+HAE g%g;%-ﬁﬁ%m SRETR L4t i,gé%ﬂbﬁ =5 | 36740000 (ﬁ*"}éﬁ;;%’@’
$H746A48 27 BHKER  BEEKHERRHES + R 4,345,000 ;@;iiﬁ‘f‘ﬁ
4R74E6H48 26 53R EEmRRERRRTE SRETITRR | 4750000 = 2ilzsH
SH7E6 A48 25 R AEIHRERRRISE ZEJIETH A 3,822,500 ()7 E 48
SF7E6A4H 24 R RO SHRERRRIE ZBHETHRA 4,948,834 FHFELT B
TMIE6A48 23 EEFE HistEEX RIS JIGERT TR IL# A 8,368,934 (H)FE+T
SF7E6A4H 22 R KETHBYIRERFETSE Z[ABTKETH A 29,920,000 X 75 T )
576 AR e SEPATEMAOCYEETE ZBEINTES | 000 AECELEER
SH7E58218 20 BUAHEN 4 o mammms s TEETASHA | 12,320,000 KRB T
4H74E5A21 8 19 232 PE R R S R R Mo =8 6610000 BEEBLAT LS
SM7458218 18 ERA S EEE gﬂpﬂmmiﬁﬁ*ﬁﬁ?@%ii% HwR—M 7,535,000 gg;’;}"u_':
SM7E5821H 17 g;’i%iﬁ égé%gq:‘#*i%{iﬂ)ﬁ—&(}?ﬁﬁ EHETHA 39,701,200 =3B R
SF7E58218 16 §E§§§ gég%:ﬁ#&%&inv A—RUTER NIZTRTH A 39,732,000 %)
SH7E5A218 15 #iBR KiI5B LRV ESHEIE EEETHRN 53,733,900 #TE & T £
5174308 o BERARXC LERAURBERERGBOREES | po g _—
47448308 12 §E§§§ %'%’Jﬁ&mwﬁBﬁg&ﬁwﬁ&%* Tk — 14,190,000 () KIS+ T 75
4F0744H308 11 H B %qﬂ%mﬁm&ﬁ%ﬁ{t%@%’% #HH—H 37,015,000 (;g%:x:@t%%
£H7448308 10 R ACAREBRRIKCROIZELE  TRERELR 2750000 R BTN
SH7E4A308 o ARZASR pmtirrimairntTE LREUNKIA | 6820000 T LRI
47174458308 s ARZASR my mprmairmiTH th 2 [ERTHE 5,698,000 {7 7.4 R - A
SHI7E4B 08 1 ZRELER miepmarre TS SRWAITEL 6578000 470244
SH7E4AR1TE 6 ARZASE ZIshbl it S—AREE |IIZTamN 830,500/ 7S B %
SH7E4A 178 5 SER LEXIEEBRULEREEARLE | LRI AGBA 1,556,500 | s 7T
£F7E4F17H 4 BmaE ﬁgﬁig*ﬁﬁ%ﬁﬁma%ﬁ&* %21 ET 52 3,278,000 E%I%;;ffﬁwm




SMIE4R178 3 EEREE =t 8—nEAIE N s R o 7
Br) TIRIER D)=t A—0 ,E'J/T.%}% iz [ERTH 9,460,000 Z(H)Hlﬂ.l%%ﬁﬁ
- R & s e e 3 N2t =5 (ARNEBRRKE
TE4R ; EERD =
SR7E4R1TE EEESE  SEEER TS KERERS | HH— 565,000 e d EEREE
hZ=X




